G2-M6-Lesson 18

1. Pair the objects, and count by twos to decide if the number of objects is even.
Not Even

There are 10 stars. The number of
objects is'even because when | pair
them, there are no stars left over.

Thereare 5 twes. Thereare 0 twosleft over.

Count by twos to find the total.
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.. 10iseven’because | cansay
10 when counting by twos,

2. Draw to continue the pattern of the pairs in the space bélow until you have drawn 10 pairs.
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This is just like when we line
up side by side to goto
lonch! Each person hasa
parther. When | count by
twos, 1 say;“2, 4, 6, 8, ..”
These are even numberst

i

3. Write the number of dots in each array in Problem 2 in order from least to greatest.
2,4,6,8,10,12,14, 16, 18, 20

4, <Circlethe array in Problem 2 that has 2 columns:of 7.

I 'can make 2 colurns of 7,and T+ 7= 14.
Even if one of the numbers 'm adding isn't
even; when | double it, { get-an even number.,
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